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BOOKS - KC SINHA MATHS (HINGLISH)

AP - FOR BOARDS

Solved Examples

1. Write the �rst three terms in each of the

equences de�ned by the following: 

Watch Video Solution

tn = n(n + 1)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hpZZsZiThNEh


2. Write the �rst three terms in each of the

equences de�ned by the following: 

Watch Video Solution

tn =
n2

n + 2

3. What is the 15th term of the sequence de�ned

by 

Watch Video Solution

tn =
1

2n − 10

4. Find the �rst �ve terms of the sequence for

which 

https://dl.doubtnut.com/l/_fNqr4HQcvNfi
https://dl.doubtnut.com/l/_RLPzMUx3jINC
https://dl.doubtnut.com/l/_X1cD3Vw564CA


Watch Video Solution

t1 = 1, t2 = 2 and tn+ 2 = tn + t + (n + 1)

5. Show thast the sequence  de�ned by 

 are

constants, is an A.P. Fid its common di�erence.

Watch Video Solution

(tn)

tn = x + (2n − 1)b, wherex and b

6. Show that the sequence de�ned by

 is not an A.P.

Watch Video Solution

an = 2n2 + 1

https://dl.doubtnut.com/l/_X1cD3Vw564CA
https://dl.doubtnut.com/l/_6lrKxCXuFS2s
https://dl.doubtnut.com/l/_278OtOoUrPxN


7. Show that the sequence

 is an A.P.

Watch Video Solution

(a + b)2(a2 + b2), (a − b)2, …

8. Show that the sequence

 forms an

A.P.

Watch Video Solution

loga, log( ), log( ), log( ),
a2

b

a3

b2

a4

b3

https://dl.doubtnut.com/l/_278OtOoUrPxN
https://dl.doubtnut.com/l/_pXgJrJciCSxN
https://dl.doubtnut.com/l/_mzQCchM5IWu5


9. How many terms are there in the A.P. 20, 25, 30, …

100.

Watch Video Solution

10. Find the A.P. whose 7th and 13th terms are

respectively 34 and 64

Watch Video Solution

11. The 11th term of an A.P. is 80 and the 16th term

is 110. Find the 31st term.

https://dl.doubtnut.com/l/_wpymMLUP4c08
https://dl.doubtnut.com/l/_ZGzn2dMJX9Q2
https://dl.doubtnut.com/l/_MvFB8NoViJTE


Watch Video Solution

12. Is 55 a term of te seqwuence 1,3,5,7..? If yes �nd

which term it is.

Watch Video Solution

13. Find the �rst negative termof the sequence

2000, 1995, 1990, 1985,……

Watch Video Solution

https://dl.doubtnut.com/l/_MvFB8NoViJTE
https://dl.doubtnut.com/l/_mBFkR4Xo6xxq
https://dl.doubtnut.com/l/_0ZUJGjkDqWj9


14. How many terms are identical in the two

arithmetic progressions  up to 100

terms and  up to 80 terms.

Watch Video Solution

2, 4, 6, 8, ......

3, 6, 9, ....

15. If m times the mth term of an AP is equal to n

times its nth term, then show that (m + n)th term

of an AP is zero.

Watch Video Solution

https://dl.doubtnut.com/l/_MfSGgKmcSlrs
https://dl.doubtnut.com/l/_pXuybTQ8O8Is


16. If pth,qth and rth terms of an A.P. are a, b, c

respectively, then show that (i) a(q-r)+b(r-p)+c(p-

q)=0

Watch Video Solution

17. Find the numberof integer between 100 and

1000 that are i. divisible by 7 ii. not divisible by 7.

Watch Video Solution

https://dl.doubtnut.com/l/_MoD2sFcCkNL3
https://dl.doubtnut.com/l/_c2bokMtQ8Co7


18. Show that in an A.P. the sum of the terms

equidistant from the beginning and end is always

same and equal to the sum of �rst and last terms.

Watch Video Solution

19. The sum of three numbers in A.P. is 27 and the

sum of their squares is 293. Find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_hY0kUAJ27K1z
https://dl.doubtnut.com/l/_bW9AzYm5y33f


20. The sum of four integers in  is  and

their product is  �nd

Watch Video Solution

A. P , 24,

945

21. Divide 69 into three parts which are in A.P. and

the product of the two smaller parts is 483.

Watch Video Solution

22. If the sum of n tems of a series be ,

�nd its nth term. Are the terms of this series in

5n2 + 3n

https://dl.doubtnut.com/l/_V0yfghb4AIx6
https://dl.doubtnut.com/l/_Is0zKTQwaIPl
https://dl.doubtnut.com/l/_zhoYzkv4ySvB


A.P.?

Watch Video Solution

23. Find the sum to n terms of an A.P. whose nth

terms is 

Watch Video Solution

tn = 5 + 6n, n ∈ N.

24. Find the sum of the series 99+95+91+87+… to

20 terms.

Watch Video Solution

https://dl.doubtnut.com/l/_zhoYzkv4ySvB
https://dl.doubtnut.com/l/_G4E1Jn1kzoNK
https://dl.doubtnut.com/l/_zRBVoKDUR6jV


25. Find the sum of  terms of the series

.

Watch Video Solution

n

(a + b)2 + a2 + b2 + (a − b)2 + ...................

26. If the sum of a certain number of terms of the

AP 5,22,19.. is 116. Find the last term.

Watch Video Solution

27. How many terms of the series 54,51, 48,.. be

taken so that their sum is 513? Explain the double

https://dl.doubtnut.com/l/_i4Wo0AtcR6gb
https://dl.doubtnut.com/l/_5xl3juIUPY8O
https://dl.doubtnut.com/l/_9x1Wlc3YyNNS


answer

Watch Video Solution

28. Find the sum of all even integers between 101

and 999.

Watch Video Solution

29. Solve: 

Watch Video Solution

1 + 4 + 7 + 10 + + x = 590.

https://dl.doubtnut.com/l/_9x1Wlc3YyNNS
https://dl.doubtnut.com/l/_2ljAzFkga3zi
https://dl.doubtnut.com/l/_zhpf1ZLQfDUG


30. Let the sum of n, 2n, 3n terms of an A.P. be

 and  , respectively, show that 

 .

Watch Video Solution

S1, S2 S3

S3 = 3(S2 − S1)

31. Let  be the sum of n terms of 3

arithmetic series, the �rst termof each being 1 and

the respective common di�erences are 1,2,3,then

prove that .

Watch Video Solution

S1, S2 and S3

S1 + S3 = 2S2

https://dl.doubtnut.com/l/_DAMWVy8WaBJl
https://dl.doubtnut.com/l/_QPz8oHfAEEKv
https://dl.doubtnut.com/l/_gMEG7pmL8GsC


32. If there are  terms in A.P. , then prove

that the ratio of the sum of odd terms and the

sum of even terms is 

Watch Video Solution

(2n + 1)

(n + 1) : n

33. The sum of the �rst  terms of an A.P. are 

 respectively. Show that 

Watch Video Solution

p, q, r

a, b, c

(q − r) + (r − p) + (p − q) = 0
a

p

b

q

c

r

https://dl.doubtnut.com/l/_gMEG7pmL8GsC
https://dl.doubtnut.com/l/_9z1gfKpmLeMJ


34. The ratio of the sumsof p and q terms of an

A.P.is . Show that the ratio of its pth and qth

terms is 

Watch Video Solution

p2 : q2

2p − 1: 2q − 1

35. The interior angles of a polygon are in AP The

smallest angle is  and the common di�erence is

5. Find the number of sides of the polygon.

Watch Video Solution

120

https://dl.doubtnut.com/l/_gwIYLT8wFL47
https://dl.doubtnut.com/l/_IkfAOQTzQYtI


36. The ratio of the sum of n terms of two A.P.'s is

 Find the ratio of their mth

terms.

Watch Video Solution

(3n + 1) : (4n + 3).

37. Prove that a sequence in an A.P., if the sum of

its  terms is of the form 

are constants.

Watch Video Solution

n An2 + Bn, whereA, B

https://dl.doubtnut.com/l/_Dd9Djlj9IVMY
https://dl.doubtnut.com/l/_kcrWmJcufYr8


38. Find the sum of the integers between 1 and 200

which are multiples of 3.

Watch Video Solution

39. If a,b,c are in A.P. prove that 

are also in A.P.

Watch Video Solution

b + c, c + a, a + b

40. If  are in A.P. prove that 

 are in A.P.

a2, b2, c2

, ,
1

b + c

1

c + a

1

a + b

https://dl.doubtnut.com/l/_CiaDUW7ybz33
https://dl.doubtnut.com/l/_0ETOrWXZCR1b
https://dl.doubtnut.com/l/_P2i01lJlBddy


Watch Video Solution

41. If  are in A.P. prove

that  are also in A.P.

Watch Video Solution

ab + bc + ca ≠ 0 and a, b, c

a2(b + c), b2(c + a), c2(a + b)

42. If a,b,c are in A.P. prove that:

 are in A.P.

Watch Video Solution

a( + ), b( + ), c( + )
1

b

1

c

1

c

1

a

1

a

1

b

https://dl.doubtnut.com/l/_P2i01lJlBddy
https://dl.doubtnut.com/l/_rMgAnaJMqycG
https://dl.doubtnut.com/l/_18apbi6NZELa


43. If  are in A.P.,

then prove that a,b,c are in A.P. or

Watch Video Solution

a2(b + c), b2(c + a), c2(a + b)

ab + bc + ca = 0

44. Insert �ve arithetic means between 5 and 29.

Watch Video Solution

45. n A.M.'s are inserted between 1 and 31 such that

the ratio of the 7th and  th means terms is(n − 1)

https://dl.doubtnut.com/l/_jhKuczYR4t8n
https://dl.doubtnut.com/l/_0U5AYKBXelO5
https://dl.doubtnut.com/l/_0QqeKfAuByoY


5:9. Find n.

Watch Video Solution

46. For what value of  is

the A.M. of a and b.

Watch Video Solution

n, , a ≠ b
an+ 1 + bn+ 1

an + bn

47. Prove that the sum of  arithmetic means

between two numbers in  times the single. A.M.

between them.

Watch Video Solution

n

n

https://dl.doubtnut.com/l/_0QqeKfAuByoY
https://dl.doubtnut.com/l/_JG3QADTGo1IS
https://dl.doubtnut.com/l/_7DgQYc2zHkjw


48. If  are in A.P. and  is the A.M. of 

 is the A.M. of  , then prove

that the A.M. of  .

Watch Video Solution

x, y, z A1

xandyandA2 yandz

A1andA2isy

49. The sum of two numbers is  An even

number of arithmetic means are being inserted

between them and sum exceeds their number by

 �nd the number of means inserted.

Watch Video Solution

.
13

6

1.

https://dl.doubtnut.com/l/_7DgQYc2zHkjw
https://dl.doubtnut.com/l/_3U3SjwGNyZB6
https://dl.doubtnut.com/l/_0ZRy8DvEraiG


Exercise

50.  arlithmetic means are inserted between

 and then between  If the rth

means in each case be equal, then �nd the ratio

Watch Video Solution

n

xand2y 2xandy.

x/y.

1. Write the indicated terms in each of the

following sequences whose nth terms are:

tn = 3n + 1

https://dl.doubtnut.com/l/_0ZRy8DvEraiG
https://dl.doubtnut.com/l/_L3ZuGyeVABzR
https://dl.doubtnut.com/l/_wRNrtHX9vGX3


Watch Video Solution

2. Write the Ap in each of the following sequences

whose nth terms are: 

Watch Video Solution

2n

3. Write the indicated terms in each of the

following sequences whose nth terms are:

Watch Video Solution

tn = n2 + 1: t1, t2, t3

https://dl.doubtnut.com/l/_wRNrtHX9vGX3
https://dl.doubtnut.com/l/_2lxKs2KOP4Ou
https://dl.doubtnut.com/l/_bRhjA1zH1icq
https://dl.doubtnut.com/l/_69zH0iaBnqLd


4. Write the indicated terms in each of the

following sequences whose nth terms are:

Watch Video Solution

tn = n(n + 2) : t5, t7

5. Write the indicated terms in each of the

following sequences whose nth terms are:

Watch Video Solution

tn = : t1, t10
n2

n + 1

https://dl.doubtnut.com/l/_69zH0iaBnqLd
https://dl.doubtnut.com/l/_UxNEXJYhJHx7


6. Write the indicated terms in each of the

following sequences whose nth terms are:

Watch Video Solution

tn = : t6, t7
n − 3

4

7. Write the indicated terms in each of the

following sequences whose nth terms are:

Watch Video Solution

tn = : t1, t2, t3
2n − 3

6

https://dl.doubtnut.com/l/_HQZGbcR8QqUE
https://dl.doubtnut.com/l/_H9xgGnx8U7UT


8. Write the indicated terms in each of the

following sequences whose nth terms are:

Watch Video Solution

tn = : t4, t5
n

n + 1

9. Write the indicated terms in each of the

following sequences whose nth terms are:

Watch Video Solution

tn = n2(n + 1) : t4, t5

https://dl.doubtnut.com/l/_VlLjQ30U12mr
https://dl.doubtnut.com/l/_C3CVrCLS2bp2


10. Write the indicated terms in each of the

following sequences whose nth terms are:

Watch Video Solution

tn = : t4, t5

n(n2 + 5)

4

11. Find the indicated terms in each of the

following sequences whose nth nth terms are:

Watch Video Solution

tn = ( − 1)n− 1
tn− 1, t3

https://dl.doubtnut.com/l/_uNLmnQI0r1UZ
https://dl.doubtnut.com/l/_SPuossvBDiFM


12. Find the indicated terms in each of the

following sequences whose nth nth terms are:

Watch Video Solution

tn = , t4, t6
n2

2n

13. Find the indicated terms in each of the

following sequences whose nth nth terms are:

Watch Video Solution

4n − 3, t17, t24

https://dl.doubtnut.com/l/_SdmNu27bZbLV
https://dl.doubtnut.com/l/_4jq172TfC3vJ


14. Find the indicated terms in each of the

following sequences whose nth nth terms are:

Watch Video Solution

tn = ( − 1)n− 1. n3, t9

15. Find the indicated terms in each of the

following sequences whose nth nth terms are:

Watch Video Solution

tn = , t1, t2

n2(n + 1)

3

https://dl.doubtnut.com/l/_NjFIesYkfb2S
https://dl.doubtnut.com/l/_7NjH5zAOjb4b


16. Find the indicated terms in each of the

following sequences whose nth nth terms are:

Watch Video Solution

tn = , t20
n(n − 2)

n + 3

17. Find the indicated terms in each of the

following sequences whose nth nth terms are:

Watch Video Solution

tn = (n − 1)(2 − n)(3 + n), t20

https://dl.doubtnut.com/l/_2zCZuMU6Hyop
https://dl.doubtnut.com/l/_cUs0iSEdfFE0


18. Find the indicated terms in each of the

following sequences whose nth nth terms are:

Watch Video Solution

, t1 = 3, t2, t3(n ≥ 2)
tn− 1

n2

19. Write the next three terms of the following

sequences: 

Watch Video Solution

t2 = 2, tn = tn− 1 + 1, (n ≥ 3)

https://dl.doubtnut.com/l/_Hqci780t8KGg
https://dl.doubtnut.com/l/_9eFKGRtTiKXL


20. Write the next three terms of the following

sequences: 

Watch Video Solution

t1 = 3, tn = 3tn− 1 + 2f or alln > 1

21. Write the next three terms of the following

sequences: 

Watch Video Solution

t1 = 1, tn = , (n ≥ 2)
tn− 1

n

22. Write the next three terms of the following

sequences: t1 = 2, tn = tn− 1 − 1, n > 2

https://dl.doubtnut.com/l/_7CJePnORBRaD
https://dl.doubtnut.com/l/_aN8NpPbnq9ka
https://dl.doubtnut.com/l/_ml1EyEspt3el


Watch Video Solution

23. Find the �rst �ve terms of the following

sequences and write down the coresponding

series: 

Watch Video Solution

t1 = 1, tn = tn− 1 + 2f or n ≥ 2

24. Write the next three terms of the following

sequences: 

Watch Video Solution

t1 = 1, tn = , (n ≥ 2)
tn− 1

n

https://dl.doubtnut.com/l/_ml1EyEspt3el
https://dl.doubtnut.com/l/_PiOXgPL4bpsD
https://dl.doubtnut.com/l/_g1WKx5cbwfFN
https://dl.doubtnut.com/l/_gnReKbYPTHjS


25. The Fibonacci sequence is defence by

then �nd the values of k for .

Watch Video Solution

t1 = t2 = 1, tn = tn− 1 + tn− 2(n > 2). Iftn+ 1 = ktn

n = 1, 2, 3 and 4

26. If nth term of a sequences is  �nd the

sequence. Is this sequences at A.P.?

Watch Video Solution

4n2 + 1,

27. If nth term of a sequences is 

are constants, is the this sequence an A.P.?

2n + b, wherea, b

https://dl.doubtnut.com/l/_gnReKbYPTHjS
https://dl.doubtnut.com/l/_42v9FAwr7u8T
https://dl.doubtnut.com/l/_CE9AZD8OdNkM


Watch Video Solution

28. If the nth term of a sequence is an expressionof

�rst degree in n, show that it is an A.P.

Watch Video Solution

29. A sequence  is given by 

 show that it is not an A.P.

Watch Video Solution

{tn}

tn = n2 − 1, n ∈ N,

https://dl.doubtnut.com/l/_CE9AZD8OdNkM
https://dl.doubtnut.com/l/_hOYQ6rWHGSli
https://dl.doubtnut.com/l/_2imoOt2YLkG4


30. Find the indicated terms in each of the

following arithmetic progression 

Watch Video Solution

16, 11, 16, . . , t61

31. Find the indicated terms in each of the

following arithmetic progression

Watch Video Solution

a = 3, d = 2, tn, t10

https://dl.doubtnut.com/l/_cpLtl8hFxEQg
https://dl.doubtnut.com/l/_ZgIKqs4WhzDC


32. Find the indicated terms in each of the

following arithmetic progression 

Watch Video Solution

5, 2, − 1…. . t10

33. Find the indicated terms in each of the

following arithmetic progressions

Watch Video Solution

a = 21, d = − 5, tn, t25

https://dl.doubtnut.com/l/_3Xra8nxVME1d
https://dl.doubtnut.com/l/_VMZBzRiVBdRC


34. Find the 10th term of the sequence

10,5,0,-5,-10,…

Watch Video Solution

35. Find the 10th term of the sequence whose 7th

and 12th terms are 34 and 64 respectively.

Watch Video Solution

36. If pth, qth, and rth terms of an A.P. are 

respectively, then show that

a, b, c,

https://dl.doubtnut.com/l/_1WxBCCDN1q16
https://dl.doubtnut.com/l/_CJY0etudcPn8
https://dl.doubtnut.com/l/_wv3MQki4BB99


Watch Video Solution

a(q − r) + b(r − p) + c(p − q) = 0

(a − b)r + (b − c)p + (c − a)q = 0

37. �nd the �rst negative term of the sequence

999,995,991,987,…

Watch Video Solution

38. In an A.P. if  term is n and the  term is m,

where  , �nd the pth term.

Watch Video Solution

mth nth

m ≠ n

https://dl.doubtnut.com/l/_wv3MQki4BB99
https://dl.doubtnut.com/l/_v88sOhqE58JB
https://dl.doubtnut.com/l/_OHwUkTcxt4PI


39. Each of the sequences 3,5,7,… and 4,7,10, is

continued to 100 terms. Find how many terms are

identical.

Watch Video Solution

40. Find the number of all positive integers of 

digits which are divisibleby .

Watch Video Solution

3

5

https://dl.doubtnut.com/l/_OHwUkTcxt4PI
https://dl.doubtnut.com/l/_pqCZnhQwCQLV
https://dl.doubtnut.com/l/_cAL1j9UIY4LV


41. For an , show that 

Watch Video Solution

A. P tm + t2n + m = 2tm+n

42. For an A.P. show that 

Watch Video Solution

tm+n + tm−n = 2tm

43. Determine the number of terms in the A.P.

3,7,11,…,399. Also �nd its 20th term from the end.

Watch Video Solution

https://dl.doubtnut.com/l/_6LxYMCKD7FR3
https://dl.doubtnut.com/l/_GXz1CG9EGM5R
https://dl.doubtnut.com/l/_6927DtKpTmEf
https://dl.doubtnut.com/l/_utXP5etJN3uF


44. If  is n A.p. such that , �nd 

Watch Video Solution

{tn} =
t4

t1

2

3
.

t8

t9

45. Show that the sequence

 is an A.P. Find

its nth term.

Watch Video Solution

loga, log(ab), log(ab2), log(ab3),

46. A man starts repaying a loan as �rst instalment

of Rs. 100. If he increases the instalments by Rs. 5

https://dl.doubtnut.com/l/_utXP5etJN3uF
https://dl.doubtnut.com/l/_SzNj7ZJ7FfFQ
https://dl.doubtnut.com/l/_8hbWPdfO6CCW


every month, what amount he will pay in the 30th

instalment?

Watch Video Solution

47. Three numbers are in A.P., their sum is 27 and

the sum of their squares is 275. Find the numbers.

Watch Video Solution

48. The sum of three numbers in A.P. is 12 and the

sum of their cubes is 408 �nd them.

Watch Video Solution

https://dl.doubtnut.com/l/_8hbWPdfO6CCW
https://dl.doubtnut.com/l/_3s55G2PPA4P4
https://dl.doubtnut.com/l/_c0atNQtF8vdD


49. Divide 15 into three parts which aere in A.P. and

the sum of their squares is 83.

Watch Video Solution

50. 4. (a) Divide 20 into 4 parts which are in A.P.

and such that. the product of the �rst and fourth

is to the product o the secondi.and third in the

ratio 2:3.

Watch Video Solution

https://dl.doubtnut.com/l/_c0atNQtF8vdD
https://dl.doubtnut.com/l/_JfHrCquzEeip
https://dl.doubtnut.com/l/_61oOLs8U6wAQ
https://dl.doubtnut.com/l/_BHRhzQtTt8xL


51. If the sum to n terms of a sequences is ,

�nd its nth. Is this seqwuence as AP.?

Watch Video Solution

2n2 + 4

52. Find the sum of the following series:

 terms

Watch Video Solution

1 + 4 + 7 + 10 + … → 40

53. Find the sum of the following series:

 60 terms2( ) + 3( ) + 4( ) + …
2

3

2

3

2

3

https://dl.doubtnut.com/l/_BHRhzQtTt8xL
https://dl.doubtnut.com/l/_RXDYGnbEF4pX
https://dl.doubtnut.com/l/_tRQHUFc8CMSN


Watch Video Solution

54. Find the sum of the following series:

 25 terms

Watch Video Solution

+ + …
3

√5

4

√5

55. Find the sum of the following series:

 20 terms

Watch Video Solution

1 + 5 + 3 + 9 + 5 + 13 + 7 + …

https://dl.doubtnut.com/l/_tRQHUFc8CMSN
https://dl.doubtnut.com/l/_CleZsvowgmcQ
https://dl.doubtnut.com/l/_9oPkAsNcJPje


56. How many terms of the series 15+12+9+… must

be taken to make 15? Explain the double answer.

Watch Video Solution

57. Find the sum of all odd numbers between 100

and 200.

Watch Video Solution

58. Find the sum of odd integers from 1 to 2001.

Watch Video Solution

https://dl.doubtnut.com/l/_TGv6jB9OYNRn
https://dl.doubtnut.com/l/_jbhVtOVJEKji
https://dl.doubtnut.com/l/_ufwW10aDoJfN


59. Find the sum of �rst 30 terms of an A.P. whose

second term is 2 and seventh term is 22.

Watch Video Solution

60. The sum of �rst p- terms terms of an A.P. is q

and the sum of �rst q terms is p, �nd the sum of

�rst (p + q)

Watch Video Solution

https://dl.doubtnut.com/l/_ufwW10aDoJfN
https://dl.doubtnut.com/l/_BSFcGFHq3YPK
https://dl.doubtnut.com/l/_E5CY3UAsCcpT


61. How many terms of the A.P. -6,  are

needed to give the sum -?

Watch Video Solution

− ,   − 5..
11

2

62. solve: 

Watch Video Solution

1 + 6 + 11 + 16 + ......... + x = 148

63. Solve : 

Watch Video Solution

2 + 22 + 19 + 16 + + x = 115

https://dl.doubtnut.com/l/_sE0THFfIIzRo
https://dl.doubtnut.com/l/_lW0Ff1vLGtl9
https://dl.doubtnut.com/l/_m7oop61bKox2
https://dl.doubtnut.com/l/_CjX6z7MzAKlB


64. Find the sum of integers from 1 to 100 that are

divisible by 2 or 5.

Watch Video Solution

65. Find the sum of all natural numbers lying

between 100 and 1000, which are multiples of 5.

Watch Video Solution

66. Find the sum of all numbers between 200 and

400 which are divisible by 7.

https://dl.doubtnut.com/l/_CjX6z7MzAKlB
https://dl.doubtnut.com/l/_zObPbzAQXLpH
https://dl.doubtnut.com/l/_8vcoWbZ0abWD


Watch Video Solution

67. If the sum to n terms of a sequence be 

then prove tht the sequence is an A.P.

Watch Video Solution

n2 + 2n

68. Find the sum of  terms of an A.P. whose kth

terms is 

Watch Video Solution

n

5k + 1.

https://dl.doubtnut.com/l/_8vcoWbZ0abWD
https://dl.doubtnut.com/l/_bPgW8iXwauYS
https://dl.doubtnut.com/l/_uFReQKLz4qFg


69. Find the sum of all two digit numbers which

when divided by 4, yields 1 as remainder.

Watch Video Solution

70. If the sum of  terms of an A.P. is  and

its mth term is 164, �nd the value of 

Watch Video Solution

n 3n2 + 5n

m.

71. If the sum of n terms of an A.P. is  ,

where p and q are constants, �nd the common

(pn + qn2)

https://dl.doubtnut.com/l/_w3Qf5UancEok
https://dl.doubtnut.com/l/_6M6wExXNggnf
https://dl.doubtnut.com/l/_sdGZMXGYouWm


di�erence.

Watch Video Solution

72. If the sum of n terms of an A.P. in

 where P and Q are

constants, �nd the common di�erence.

Watch Video Solution

nP  + n(n − 1)Q,
1

2

73. If the sum of 8 terms of an A.P. is 64 and the

sum of 19 terms is 361, �nd the sum of n terms.

Watch Video Solution

https://dl.doubtnut.com/l/_sdGZMXGYouWm
https://dl.doubtnut.com/l/_5sO1WVEAL7Kd
https://dl.doubtnut.com/l/_ecdYrHMEERyN


74. The �rst , second and the last terms of an A.P.

are  respectively. Prove that the sum is 

 .

Watch Video Solution

a, b, c

(a + c)(b + c)(c − 2a)

2(b − a)

75. If the  term of an A.P. is  and the  term

is , show that the sum of mn terms is 

.

Watch Video Solution

mth 1

n
nth

1

m

(mn + 1)
1
2

https://dl.doubtnut.com/l/_ecdYrHMEERyN
https://dl.doubtnut.com/l/_yLsOw1MAy6CK
https://dl.doubtnut.com/l/_HOYgitJj7BAh
https://dl.doubtnut.com/l/_si5KcUgi6SUn


76. If 12th term of an A.P. is -13 and the sum of the

�rst four terms is 4, what is the sum of �rst 10

terms ?

Watch Video Solution

77. If there are  terms in A.P. , then prove

that the ratio of the sum of odd terms and the

sum of even terms is 

Watch Video Solution

(2n + 1)

(n + 1) : n

https://dl.doubtnut.com/l/_si5KcUgi6SUn
https://dl.doubtnut.com/l/_4hkCS107OgIO


78. If the sum of �rst  terms of an A.P. is the same

as the sum of its �rst  terms, show that the sum

of tis  terms is zero.

Watch Video Solution

m

n

(m + n)

79. In an A.P. the �rst term is 2 and the sum of the

�rst �ve terms is one fourth of the next �ve terms.

Show that 20th term is -112.

Watch Video Solution

https://dl.doubtnut.com/l/_i66kAGmfpD57
https://dl.doubtnut.com/l/_WUhzgrwDHLiw


80. the income of a person is Rs. 300,000 in the

�rst year and he receivers in increase of Rs. 10000

to his income per year for the next 19 years. Find

the total amount, he received in 20 years.

Watch Video Solution

81. A man starts repaying a loan as �rst instalment

of Rs. 100. If he increases the instalments by Rs. 5

every month, what amount he will pay in the 30th

instalment?

Watch Video Solution

https://dl.doubtnut.com/l/_PrtsnEzvGSa4
https://dl.doubtnut.com/l/_yIitf6jrr0sx


82. The interior angle of polygon are in A.P., the

smallest angle is  and the common di�erence is

. Find the numberof sieds of the polygon.

Watch Video Solution

750

100

83. If , be the sum of  terms of an ; the

value of , is

Watch Video Solution

Sn n A. P

Sn − 2Sn− 1 + Sn− 2

https://dl.doubtnut.com/l/_yIitf6jrr0sx
https://dl.doubtnut.com/l/_KOohs0kzb7WW
https://dl.doubtnut.com/l/_zytd0nL75IMo


84. The sum of �rst 7 terms of an A.P. is 10 and that

of next 7 terms is 167. Find the progression.

Watch Video Solution

85. if the pth term of an A.P. is x and qth term is y,

show tht the sum of  terms is 

Watch Video Solution

(p + q)

[x + y + ( )]
p + q

2

x − y

p − q

https://dl.doubtnut.com/l/_Z6hQh2XJzuzY
https://dl.doubtnut.com/l/_kZaBBYwXuFLV


86. The sum of  terms of two arithmetic

progressions are in the ratio 

Find the ratio of their 12th terms.

Watch Video Solution

n

(3n + 8) : (7n + 15).

87. The sum of  terms of two arithmetic

progressions are in the ratio  Find

the ratio of their 18th terms.

Watch Video Solution

n

5n + 4: 9n + 6.

https://dl.doubtnut.com/l/_yt8eo8IXCcBE
https://dl.doubtnut.com/l/_SYtlm4jyYrSv


88. If in an A.P,  and , then  is

equal to

Watch Video Solution

Sn = n2p Sm = m2p Sp

89. If  are in A.P. and 

 prove that 

are in A.P.

Watch Video Solution

, ,
a

b + c

b

c + a

c

a + b

a + b + c ≠ 0 , ,
1

b + c

1

c + a

1

a + b

https://dl.doubtnut.com/l/_q6YWOx6s2kI6
https://dl.doubtnut.com/l/_3dlleW7F7qLf


90. If  are in A.P, show that: 

 are in A.P.

Watch Video Solution

a2, b2, c2

, ,
a

b + c

b

c + a

c

a + b

91. If a, b, c are in A.P., prove that: (i) 

are in A.P. (ii)

 are in

A.P.

Watch Video Solution

, ,
1

bc

1

ca

1

ab

(b + c)2 − a2, (a + c)2 − b2, (b + a)2 − c2

https://dl.doubtnut.com/l/_yKbT99cNohiB
https://dl.doubtnut.com/l/_jCncSSzuDALp


92. If a, b, c are in A.P., prove that: (i) 

are in A.P. (ii)

 are in

A.P.

Watch Video Solution

, ,
1

bc

1

ca

1

ab

(b + c)2 − a2, (a + c)2 − b2, (b + a)2 − c2

93. If  are in A.P., then prove that the

following are also in A.P.

Watch Video Solution

a, b, c

, ,
1

√b + √c

1

√c + √a

1

√a + √b

https://dl.doubtnut.com/l/_VtQPMOLnNttH
https://dl.doubtnut.com/l/_zJ4JYkmDKEYw
https://dl.doubtnut.com/l/_ttUbGUEvqDwe


94. If  are in A.P.,

show that  are in A.P. provided 

Watch Video Solution

, ,
b + c − a

a

c + a − b

b

a + b − c

c

, ,
1

a

1

b

1

c

a + b + c ≠ 0

95. If  are in A.P., then

show that  are in A.P.

Watch Video Solution

(b − c)2, (c − a)2, (a − b)2

, ,
1

b − c

1

c − a

1

a − b

https://dl.doubtnut.com/l/_ttUbGUEvqDwe
https://dl.doubtnut.com/l/_lhUMY3ZFz6DS


96. If a,b,c are in A.P. show that

Watch Video Solution

(a − c)2 = 4(a − b)(b − c)

97. If a, b, c are in A.P, show that

 (ii) 

Watch Video Solution

(i)a3 + b3 + 6abc = 8b3

(a + 2b − c)(2b + c − a)(a + c − b) = 4abc

https://dl.doubtnut.com/l/_fyY2HrQ4AL56
https://dl.doubtnut.com/l/_rnUEJkopiOU6


98. If a, b, c are in A.P, show that

 (ii) 

Watch Video Solution

(i)a3 + b3 + 6abc = 8b3

(a + 2b − c)(2b + c − a)(a + c − b) = 4abc

99. Find the single arithmetic mean between:

Watch Video Solution

7 and 31

https://dl.doubtnut.com/l/_VUeJAjLtKOAZ
https://dl.doubtnut.com/l/_CLlllXJnRjKy


100. Findthe single arithmetic mean between:

Watch Video Solution

(a − b) and (a + b)

101. Findthe single arithmetic mean between:

Watch Video Solution

6 and − 18

102. Insert 6 numbers between 3 and 24 such that

the resulting sequence is an A. P.

https://dl.doubtnut.com/l/_1NXYyR6px4iL
https://dl.doubtnut.com/l/_N2U7gKGGra4O
https://dl.doubtnut.com/l/_871gitVbfMSf


Watch Video Solution

103. Insert 7 A.M.'s between 2 and 34.

Watch Video Solution

104. Insert �ve numbers between 8 and 26 such

that the resulting sequence is an A.P.

Watch Video Solution

105. Insert 4 A.M.s between 4 and 19.

https://dl.doubtnut.com/l/_871gitVbfMSf
https://dl.doubtnut.com/l/_ZnyBWeGhXFSF
https://dl.doubtnut.com/l/_2oim63zjwQzH
https://dl.doubtnut.com/l/_lhno33ZklKUj


Watch Video Solution

106. If  are the �ve A.M.'s

between 2 and 8, then �nd the value of

Watch Video Solution

A1, A2, A3, A2 and A5

A1 + A2 + A3 + A4 + A5.

107. If  arithemetic means are inserted between

 such tht the ratio of �rst mean to the last

mean is  then �nd the value of 

Watch Video Solution

n

20and80

1: 3, n.

https://dl.doubtnut.com/l/_lhno33ZklKUj
https://dl.doubtnut.com/l/_aoNMzMFi4VmL
https://dl.doubtnut.com/l/_sJU11rPJUUEe


108. If  be the A.M. between  and

then �nd the value of

Watch Video Solution

xp + yp

xp− 1 + yp− 1
x y

p.

109. if the A.M. between pth and qth terms of an

A.P. be equal to the A.M. between rth and sth terms

of the A.P., then show that 

Watch Video Solution

p + q = r + s

https://dl.doubtnut.com/l/_NoKkq2dqtGCE
https://dl.doubtnut.com/l/_hjfGYJJ08ncK


110. Show that in an A.P. the sum of the terms

equidistant from the beginning and end is always

same and equal to the sum of �rst and last terms.

Watch Video Solution

https://dl.doubtnut.com/l/_GAQBDuOCA0mW

